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Ah=KXMN xsin@xcosa+h —h,

tp._lu,b o
—4 = 100X MN X cos(=5°30")xsin(=5°30")+1.52-2.12 = MN =356 mm
g =a=5‘—H—a—7—=2£=>L=35.71m
D 100 L

a=100°" -V =0grad «> a4,
D=KxMNxcos’a= D=KxMNxcos’0=>D=KxMN=150m (1)

m
D =KxMNxcosasina+h —h, =150xcos0sin0+1.5-2.5=~1m
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D=KxMNxcosasina+h—h, h=h =D=KXMNXcosasing
b MN =h, —hy s yesdbsl alaly (0 oS 0 2,8
12.20 = 100( h, —0.452 )cos 10°30" sin10°30" = hy = 1.133
D =100x(h, —h)cos’ @ = D =100x(1.133-0.452) cos’ 10" 30'= D = 65.84m

AH = KXMN xsinaxcosa+h,—h,

—14.30=100Xx MN xsin 5°45" % c0s5°45"+1.56-2.05=> MN =1.484m

D=KxMNxcos* @a= D=100x1.484xcos’ 5°45 =146.91m
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